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SECTION -1 / @Ug -1
CHILD DEVELOPMENT AND PEDAGOGY
aTe ferehTa We Rremorren
There are 30 questions in all in this Section.
All questions are compulsory.

WER A FA 30THE |
[ty e € O

1. Which of the following will serve as a most satisffiing defence mechanism for the
physically handicapped individual ? .

(A) Identification ti tion

(C) Fantasy ne of these.

it fraifaa st safe & fag fa o T T § G Haryeen grn ?
() TRTeHTRR

(€ st D) T A wE T

2.  Children’s Apperceptio t wagfdesigned for children between ages 3 and 10. The
CAT cards substitut

(A) non-living o ving objects  (B) animals for people
(C) females far m : (D) children for adults.
L 2 . .
394 Y 10 99 & G F ekl h fAC A TR 1 3H qhew F FE H

iy WA RFSTaagsii s (B) @R % M T THRI i

[ % I W Afgensdll (D) %% & WM R Tl &l |
3. In order to nurture creativity, a teacher should take help of which of the following
methods ?
(A) Brainstorming (B) Lecture method
(C) Audio-visual aids (D) All of these.
YR % WYY % fAu U oreaye @ e § 9 few fafy =) werem A =nfew ?
@A) 1 =i/ faErEw B e fafy
©C) T Gt (D) T8 QI |

LT [ PT.O.
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Which of the following statements is incorrect ?

(A) Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.
frAdds-wFmR e = ¢ ?

(A)  STETIHA S HT WARE e 7 ¥

(B) 3T SATAYIehal 1 HATRIH IonT
(C) STEvedl U6 A=<HIG TAH &l §, dfcsh TR § ()O

(D) WEwghwEr safs Sifasw oa € |
Right to Education Act, 2009 specifies the minim\&nb& of working hours per

-fiye hours

(A) forty hours (B)

(C) fifty hours ive hours.

forem o1 sifyr erfufam, 2009 & & & rd we wfa @ fuiia fed ™ §
() Y He iy we

€ TN ) TEU R |

The personal factor(s) which g is / are

(A) Mass media (B) Peer group

(C) Teachers (D) Maturation and age.

sferme Bt yonfaa HRF §

(A) EER & 9eH (B) EHIGE WE

(C) S (D) wRusaa & Ay |

elﬁps the skill of bowling, but it does not affect his skill of batting.

transfer of training (B) negative transfer of training
ansfer of training (D)  none of these.
Tl STt el & Fivra i fokfaa wX A ¢, W a5 IR Teciarsit & PR A
T HT | 39 FEd ©
@) fagarens gfdeor s B) foummes gfwemr s
(C) ¥ wfvaron s (D) ¥ @ =K T

Which of the following statements best shows the mental health of a person ?
(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C) Free of personality disorders

(D) Al of these.

NIRRT
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= § @ F-w Fem Tt =afs & THfas @re =1 399 ®9 Q Teifd = € 2
@) gt sfreafs, @nfaemo o amm we ) R e
(B) WM ARl 1 7 B
© e ¥ f @ ofs
(D) T I

9.  Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of

(A) developmental stages which are determined by the environmen
(B) restricted effects of stages to early infant experience only
(C) cognitive transformation to explain stages

(D} none of these. ()
m,wﬁqﬁmﬁém%wﬁﬁﬁﬁmaﬁﬁﬁmw&%ﬁﬁﬁwaﬁ% | 95
o A

@A) el fw fawm ot saed gaee ¥ fuifa

B) el &% deamEe & sua € Afusw ¥ | staeened & Hifg gama €1 ¥
() fafi= saeenstt ! guem & fau 9 SR B el

(D) ¥ 4 = 7 |
10. Guilford has given the term ‘convergen g’ as equivalent to
(A) Intelligence (B) Creativity
- (D)

none of these.

(C) Intelligence and creaﬂvit@)
ﬁaﬁé%‘ﬁwﬁ%'w@ oA o H fe ¥ 2

@& dfs (B)  GoHHSA

€ Ff& T g (D) T 9 HE T |
11. Which of the followin tements is not true about development ?

(A) Developmentis the product of interaction

llows an orderly sequence

ent is individualized process

pment proceeds from specific to general.

@ ~MFE fTFH F IR A T TR ® ?

A &1 we ® B) o™ ww =afeua sj@en #1 ST T
© T SAfHTd Wi € (D)  fomm fafte & 9T AR M T |

12. Children’s thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

A) 7 to 12 years (B) 12 to adulthood
(C) 2 to7years (D) birth to 2 years.
STETh! Wt W ST Y STHEN T STl U YeIEl § gl § | 9% ST ®
@A) 7¥ 1298 dw B 123 TEEaE
© 29 7a¥dH D) SHE 294 TF |

Y el (e
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13.

14.

15.

16.

6

Human development is the product of joint contribution of both

(A) parents and teachers (B) sociological and cultural factors

(C) heredity and environment (D) none of these.

e T fea A & A w1 aftoms ® 2

() ANTEF ©F TEETIE H (B) 9mIfS$ Td OiRGFfah FRP! 6

(C) SIYHH WS SR (D) ¥ /=K &l |

Which of the following is not among the four determinants of intelle owth stated

by Piaget ?
(A)  Social transmission (B) Experience ()

Q) Equilibration (D) None of thes
= # 1 W ¥ oER Sifgs fawm o e 7 .
(A) g =0T (B) :

€ AR D QA T |

Which of the following is a better strategy ching children with special needs ?

(A) Discussion in the classroom inv um number of students
(B) Demonstration by teacher in i udents
(C) Cooperative learning and

(D) Ability grouping for teachi

ToRIY sTaeashar At s Trfafea & @ $H-9 =g sfvs sugw § 2

@A) Ay s=H1 T & | ==l T

B) ferenfdal = B 3TeAsh g s

© =i ( wrwifesl gra sfer )

(D) YT FHEIHIT |

Right to Act, 2009 states that a teacher shall perform which of the following

regularity and punctuality in attending school

onduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D) Al of these.

foran =1 sifeeRr stfufm, 2009 # w& seas & 1 § | frw Sifae =t qU T g 2
@) fouem ¥ fafm 9 9 999 ) Sufem g9 g

(B) UISWHA T TITH H T HTT 1M

© Tl wemRd H Huifa w9 W @ ST

(D) TH I

LU
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National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to protnote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum.

TEa e ®@, 2005 ¥ Wik fen & g 39 & fau o e a1 H TR R
reTsRe w9 B e § | R gees R mar ® 2

A ﬂ%ﬁﬁ%ﬁ%@ﬁﬁﬁwmﬁmmtk@wmw
(B) Afdew foen =t 9gm@n S

(€ i e ) T rer fawa & w9 F ggrEn S & ¢

(D) i fen =t wrewshy W wimfea fear s |

National Curriculum Framework, 2005 talk: ifts from
(A) knowledge as given and fixed as i is created

(B) educational focus to disciplin
(C) learner centric to teacher c
(D) none of these.

+ R R
1 foer| 211 &7 SR T e W W @

ew knowledge

elop the science of behaviour in educational situations
(C} “modify the educational practices in school and classroom
(D) all of these.

foraTcHe ST 1 3894 ¥

(A)  TEH E H S

B At ol § saer foagm @ fawm

€ faorem qun wen +1 Wi F gume d guR @

D) FH{ A

AR [ PT.O.
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20. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms’
which of the following reforms has been suggested ?

() Open book exams
(B) Continuous and comprehensive evaluation
(C) Group work evaluation

(D) | All of these.

TH qeT=dl ® @1, 2005 % dA<ia wien gurl’ # 74 H | fhw gur & ?
(a) el gE e B) ¥/ R T
(C) ErfEsh Fd gk (D) THAT |

21. Which statement is not true about interest ? *

(A) Interests are innate and acquired

(B) Interests change with time

(C) Interests are not related to capacities
(D) Interests are not reflection of attrac @ ; ersion in behaviour.
= # 9 -1 Fud w9 F IR ¥
() wfaEl s ik arfsia < '
(B) Tfedl 999 % STER e
©) faar draarel w ety ' ~d el eIl §
| (D) wfeEl SRR | ¥ yfafera 71 § |
22. The aftitude is

(A) an emotionalize ndency organised through experience to react positively or
d$ a psychological object

©) al ability of an individual of a specialized kind

( of these.

IR _

(A) TH JETHS FIN S SENT F gRT wfed g fRel wAdmie e % ufa TEe @
AT 3 ®9 § giafswan w §

B) TS T fosva s =fE *1 drga &1 IEEE € 5 e w_a a9 # fafte wfeor, 3@
31T HIve | Har S whar §

() = & e swar St fw i yer &1 g R

(D) 78 @ ¥ T |
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23. In personality as well as intelligence heredity plays

(A) a nominal role (B) a great role

(C) unpredictable role (D) fascinating role.
e W g § dengswd Hi

() AR @ e @ B) Heway faer #
(C) srqaigHa offieT (D) oA sffer ¥ |

24. Which of the following is the storehouse of our unfulfilled desires ?

(A) Id (B) Ego
(C) Superego (D) Id & Ego. ()O

o zeotel 1 i = T 9, 37 woenTE f A 4 - ® 2

@ =T (B) N

(C) 9™ HgH (D)
25. Defence mechanism helps us a lot in dealing

(A) violence

(C) fatigue strangers.

&7 T 9gd HeEl T §

() fEwr @ e d B) T Q froe d

(€ g&F J fred § D) FemfEl @ foed & |
26. Ability of knowing t i of problem, weaknesses and gaps related to

h ea
environment is a chara of ‘
A Gifted child B) Average children

(C) Creative chil (D) None of them.
B 9T, el % SN, wiE @ Rfwa & gi g fova @
(A wfa il (B) WY SIoTeh| i

© STeTh] <l (D) 3§ Q=8 7=
irl developed the habit of dropping the coat on the floor. Mother asked the

et out of the room and hang up the coat on the peg. The girl enters house,
coat on, approaches closet, hang up the coat on the peg. It is an example of

27.

(A) Chain learning (B) Stimulus Response learning
(C) Concept learning (D)  all of these.

T HiAS M el ASHt 3 BY W HIE Hoh hl SZT ST A € | ASH! ! Al 7 IqS el
FW Y TR Rl R HE B G W AN | ASH A IR Wy F ¥, He H T W
T H TR 1 TWE o H HIE F Gt W 2 At ¥ | Ig IS0 ®

(A)  sfEma A B) SEH-sHEA St
© v Afym = (D) TAH QG |

LT [ P.T.O.
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28.

29.

30.

Extrinsic motivation may include
I Praise & Blame
II. Rivalry
III. Rewards & Punishment
IV. Knowledge of results.
Of these :

(A) I and I (B) I, Il and III
(C) Onlyll (D)  all of these. OO

are Ao & |qeEfiE fohar sm
I e o <R & ¢
1. wiaghgam @
III. YR T T8
Iv. fom &1 e | @
iR Q‘
@A) 13RI @(B) I, 11 &R 111
(C) aw II 6 (D) THA
A process in which an %l learns new responses by observing the behaviour of
another rather th ghydirect experience is known as
(A) Social learning (B) Conditioning
(C) Experim lezrning (D) Incidental learning.
forg wfewan o [ % SeR $) 3@ F HiEar § 7 fF g Ag9a F, H FHE W ¥
(B) A

(D) ehfeHeR fm |
The symptom of learning disability is

(A) tendency to escape (B). restless, energetic and destructive
(C) disorders of attention (D) lack of motivation.

e e &1 @& ?

A) WA F g B (B) 3TN, Soia e fasees g

(C) 3Iaum g am / faer (D)  SFIROM &1 H9E |



THESH FA 30TF ¥ |

i e € 0@

31. 'vAg' W I G T & ()

@ s (B) o

\“&
© g (D) |
32. faudia a1 &1 &ty A 9 T W Fwd B < :

@) wEEEE = Qﬂ _—

€ wEES e @ (D) TEF = |
33, ‘Tui’ wsg W1 o AR T 6

@ % (B) ST

© & O) ¥R |
34. ¥M I=< ‘FHu’ 3 TR ?

@) B)

© (D) U |
35. T A A TE B F o T W wm

W A B) SeAH

€ == (D) 3TwIEh |

36. ‘=’ R ‘F fau R F fag ¥ 2
SV SR B) U FRF

(C) SURH &Rk (D) HHYE HRE |

DI | PTO.
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37.

38.

39.

40.

41.

42.

43.

44.

45.

12
‘3t oR ‘fadg’ TR e € ?

A T B) =T
c = (D) &4 |
'AgEHT T T SR A UiE T @ — 59 9 § SR §
) T B  dgE

€ 3R (D) ufE |
s o fag o1 A # @
@ g fam B fomm 0

C) 31y form D) TEERI ()
sl s s e fm g @ ad & ?

@) faEo o (B) ¢

C) =EH (D |

‘rfaer e W SR AT R

(&) W T SR FHE %ﬁaﬁﬁwﬂ

) frmior % swar (D)7 ™ Q&M |

et e g Tk 9y A ' T IMHHE T, JT9A AT HQY FEAT 8
@) 9w B famum

’ (D) 3MEEA |
AT : T WA ( 43,746 6 = Terie R e @ 9E SR R g T YRl ST

ORI T ¥ | T% Faw A R Wl W @ AW A W, ofew ofs
S gA T W1 Gl A o8 € @ 9 Su R H o Tkt % 99H 9,
Frge ¥ et sl &R afg o=t € @t weT 7 STelt S1g % wHE g,

B) 7=t Wifa
(D) AR |
‘e o e ¥
@ T e (B) FHW % W
(C) Hia & weft (D) SO EIE |
T9 T B HH WG ¥
(a) e B) TN
© ifa R wggfa (D) 3= )
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46. I U 99 TG T ?

@ T B ®

< = D s

47. fFo T A ‘'H W ® ?
@ T B FW @
© 3t O e ()0

48. T @Al o1 SRR wE @ R ? *
(A) TR F IR H 9 e e wfE (B) % €3 9 s il
(C) TR F Wy AN gl wafar 1 a1g H o Al et |
49. fFew=d ' Ef’'¥ ?
i 6@(8) RAY
% (D) wrhEd |
50. ﬁ@.
(B) J&: + =M™
D) 94 + oW |
51.
B) e ye g #
(D) fafas a1 gepe BT 2
52.
B) TU-9 AT
© e anfe (D) Ty a7fE |

LI T [ PT.O.
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53.

54.

55.

56.

57.

58.

59.

60.

14
"TeH et IaeH W W e o’ H fawm @

@A) et B) A

€ WA D) Qe |

I ET 1 e R #8761 o’ A B wF R YgE B

@ =@ ® @
(C) e (D) ¥El ) 0

'Y woRer e q T H el s AR W A ()

@A)  FHEIEE T B) ¢

©) A ST ( U A |

SR BT AW I3’ & foAw U

@) & T A BTy HE Q@V HTHTA-IT Teh HEAl
C) Hem T FE @[D) IR W W @ )
"o STe TR 1 1Y 6

(A) I g Qi% B U IFEHA

(€ ™ 9T

(B) o9 7Y TSHE T ¥
TYAFEHFAAIGHEENRE (D) AW &Y § TF F1 |
G UG §, T 9 T 99 ' & fore 39 @

(&) SR-ER AR Wi ® T I F -
C)  H-FHHTA (D) S ATy 39 Wiy |
AR T S FE A E 2

@ A () B  WER T

€ gEug (D) T | W% T

L
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35.

36.

37.
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SECTION ~ II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.
To express ‘necessity’ we use the modal

(A) may | (B) must

(C}) can (D)  might. O
Complete the phrasal verb in the following sentence : ()

I usually go to bed early and also get ..................... canly.

\ 4
(A) out (B) o
€ up (D)
Which one of the following options will co phrasal verb in the following
sentence ?
The train slowed ............c.coccevnes and
A) up over
(C) about D) down.
Pick out the phrasal verb whic to take care of’ :
(A) run after (B) look after

(D) look for.

the following sentence :

(C) run into

Complete the phras

The tourist guide goint€@ .................c.oovneee. the most important buildings.

@A) (B) out
© (D) on.
Rahul eena, “Please return my books early.”

ed Speech the above sentence will be

equested Veena to

(A) return her books early (B) return my books early

(C) return his books early (D)  return their books early.
Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.

(A) India has many beautiful buildings

(B) The Taj Mahal is more beautiful than any other building in India

(C) India has only one beautiful building, the Tal Mahal

(D) The Taj Mahal is a beautiful building.

T | PTO.
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38.

39.

40.

41.

42.

43.

44.

16
Pick out the correct ‘wh’ question :
(A) How much money do you want ? (B) How much do you want money ?
(C) How much do you money want ? (D) How much money you want ?

Which one of the following words is similar in meaning to ‘purchase’ ?
(A) Buy (B) Sell
(C)  Receive | (D)  Supply.

The word ‘inspection’ is similar in meaning to

(A) interview (B) exercise

(C) getup (D)  check up. O

Note : Please read the following stanza to answer Question N@ and 42 :
“The Jamuna’s waters rush by so quickly, *

The shadows of evening gather so thickly
Like black birds in the sky ...

O ! If the storm breaks, what ?
Safe from the lightning whe 2] hide me ?
Unless Thou succour m; d guide me
Ram re Ram ! I shall die"
“Like black birds” in th es in as example of
(A) metaphor (B) simile
(C) hyperbole (D) pun.

We can find mple of alliteration in the above lines in

(A) Ram ’ (B) I shall die

*

una’s waters (D) The shadows of evening.

sad poem, usually about someone’s death

(B) love poem

(C) prayer

(D) poem about someone’s marriage.

The phonetic symbol for the first sound ( underlined ) in the word ‘ship’ is
@ /7 B /sh/

€ /ch/ o /.

LEE T
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Direction for Question Nos. 45-46 : Pick out the correct phonetic transcription of the
following words :

45. Pick
@) /pllk/ B) /pi:k/
€ /plk / (D)  / plkk /.
46. Try

@ /trly . (B) /tral/
(C) [/tri:/ (D) /trae/. ()O

47. Which one of the following words is a verb ?

oA Sympathy (B) S ise &
(C}) Sympathetic (D) athiser.
48. Fill in an appropriate determiner :
.............................. first item in today’s pr m a song.
&) The @
(C) Any Some.
49. Supply the correct form of the verfb i e following sentence :
She ...covvviviiiiininnnnn. a new dress ek.
(a) has bought (B) has been buying
(C) Dbuys (D)  bought.
50. Which one of the f g ences has the correct verb form ?
(A) They already film (B) They already saw the film
(C) They will eadx ee the film (D) They have already seen the film.
51. May I enter yo ce ?

nce ‘may’ has the meaning of
(B) possibility
(D) order.

52. one of the following phrasal verbs means ‘to stop doing an activity or a job’ ?
(A) take up (B) run down
(C} give up (D) look for.

53. Which one of the options will complete the phrasal verb in the following sentence ?

IThad to fill ......ccoevvenviiinnnnnie. three forms to get my driving licence.
A  up (B) into
(C) down (D) over.

N [ PT.O.
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54.

55.

56.

57.

58.

59.

60.

18
The passive voice of ‘We make butter from milk’ is
(A) Butter is being made from milk
(B) Butter has been made from milk
(CO) Butter was made from milk
(D) Butter is made from milk.
Which is the correct passive voice of the following sentence ?
They have painted the door.
(A) The door was painted (B) The door h Qainted
(C) The door is painted (D)  The déor bzgted.
My sister said, “I am enjoying my work.” N
In Reported Speech the above sentence will b @
My sister said that @
(A) she was enjoying her work Q
(B] I was enjoying my work @
(C) she was enjoying my w
(D) I have been enjoyi .
The opposite of the 0@ ‘s rt’ is
(A) help $ (B) argue
2 (D) return.

Which wor osite in meaning to ‘interesting’ ?

(B) boring

(D)  pleasing.
Choose the word with the correct spelling :
(A) fenancial (B) financiel
(C) finencial (D) financial.
Pick out the word which has been correctly spelt :

A) situetion (B) setuation

(C) situation (D) situasion.

NIRRT



373 Toier weeie |f= |

e YT qHEE: | @
31. ‘T v wqelt vt wweE w9 vl 0
@ T | = ()

© = (D) *
32. ‘&R’ 30 wwwliE

@) et fawfs - e i - THIETE

€) =qdt faufe - Twe== fawfe - THaaT |

33. 'THE AEwE Hel 999’ {@ithd I

A 6 ® fain
D) =gt |

34.
(B) IYHIETH SgITH
(D) STHIERH THATH |
35,
(B) =Y
(D) fassy |
36.
A  ggH B
© =g ) e |
37. 'TeIgEN:’ Afe TR wHE: Al
@ ST (B) e
(C) FHuRa: D) T%: |

DL 201 | PT.0.



L-2 20
38. 'wAwamM:’ 3 U fauw: fw

@A) AT (B) ¥ 39 W@M:
C) TM: & uA: (D) A ¥EW: |
39.
40.
41,
42,
43,
44,
(A) TR HE: HE: (B) Tl HigT agieR:
(C) THITE: WEd agiak: (D) Thum:n‘lﬁﬂagim: |

LT e



45. '3 U9 9%Hd U3 |' 3T AR WEhAae: e

@ W vef (B)

C) T4 T=hd Yo (D)
46. 'd' HooE THNURAHA A&

A) HEEY (B)

C) TS (D)
47, T IHIORAE wafd

(a) e (B)

L-2

q U U8

o9 H&pd YSMH: |

(C) <%vs: (D) :
48. '3’ WX IARRYFY_ A @

() st Q& Eact

C T 6@ D) TEH |

49. ‘qui’ IARURYTY AfE

Q7 -

(D)

50. wY safd
(B)
D)

51. : T AHR ITHYEY dgaed vafd
@A) T (B)
€ awER (D)

52. ‘999 IAH @A | vEfgaueq s
@A) fafufcreserre geaqqey Sgea=qq (B)
© fafufsreaerrea STgEy THa=q (D)

ThH

qhE |

AR |

fafufcregame STHgEy Sga<q
fafufereaeea Jumyey Ghawq_ |

| P.T.O.



L-2 22
53. i oververerennn, A | o1 Repeam gaed wiasfa
(A wuE (B)
(C) Ui (D)
54. TH: q@U t=fq | Wafgaue gewd wlasfa
@ ey (B)
(C) Wi (D)
55. ¥t Sk we fornerd et | @ifgaw JeeEtE
(B)
(D)

56.

57.

58.

59.

60

(B) <avEER
(D) REsTEH |
B wd
(D) TE®Y |
® fen + o=
© fufa + sm=: (D) fm&a+ s |
. GO WO USRI | YEgads SYE: UIqeE W
A U+ F B) WM+ F
€ 39+ H (D) &9+ |



B 23 L-2
- ol
1- gl
3y
gL ety 30 LFE
- Ul
31
e[l (B)
¢sl» (D) T (©
v w|&L/W’LUL1»A .32
gfbd"»/'z»’k/&&',vd}”) T 'uéu:‘bd/» (A)
i g”d’mun,,édy (B)
ot Fosz bWl = ()
ujdbbu‘»/’ . P’)(}ﬂ%’ikwléwb)(}/ (D)
e LB P U5 33
£ @
M ©
@ L FLE s 34
Q~ J¥ (B e (@A)
. Jut (o) Jkl (C)
W WAz LS Gk A NIAILITEN 35
S0z (B ~ A7 (A)
274 D) AN
?‘gu:(JJV‘K ‘ol B 36
sl (B) < (A)
S sty o) e ©
w*u“"JJa_L/ 37
3 (B) 4 (A
2 (D) ‘ ' S (€
RN [P.T.O.



L-2 24
vawu*u"é.www/u‘w
. S5 B sl @
e Sty (D) A (©
S n SISl 2L U s

e GirtetT  UnifobayrCasf
LY ®) C o (A)

W (D)
e U’C’)<i g)' 22 C}J/f"’

¢ LA

£ (B)
tiy (D) @ 2 (C]
s LI
ro %}’dbd/(f ( f,.u..v)u:’,’bu" J /J’ (A)
PR Y= V) Vg Q AR IFS . (©
Qu‘qférgu"d/l/»ﬂ

RV P 874 ol TR I A TSNS T I
b M1k 607 (B

% L.Iad/dytd:’bﬂ’._ﬁuu"(f) (C)
Q~ S ot D)
g Pzl a4, 43 Sl Soy {282 5 i
/l{u:’:"'/l (rjl{r/ r;J’;.L.‘at’!gd)uf‘auf
“lP /VC—()LJ))LI u//duyguun‘djb Ul os
“l; Ké./alaﬁu‘/ﬂ’ JJULLMM:’/@;LU‘JL/
usk &£ 1 S5 U

U’l“/’—fif U"Jdd(au
“u:u”l,fi“u’“g”wu:p.u;@u

& @ div (@)
J¢ (D) P es? (C)
) Wik Te oL AT K iy Ut iy B
B . = (A)
J% D) 'k (©

VAL A [201

.38

.39

40

41

42

43

44




B 25

MK 3 Sy SIS S i
FoRUsbloit e Lisd s1e iy /W ASE 1AL L P Aty
¢qua'y-LC/L/L/LLliZ’:UW o 4T KLcmuulffu,/rvuudwéuywm-¢
J)U(JJ) ‘/'/(j’} JL’/J'/JD}’ K)’J/L/’/uL»’L.«/;G/'/JWd/ut‘H})’d/lyd/wuLJLf

LT UL s

. a/ u — LKJJ} (A)
i,f J/L e 2 K=35 (B)

‘JWJ‘J’E}L/_KJ» (&)

46

.47

.48

.49

.50

‘Lmuuﬁwuuww/ = u{uﬁjlﬁlg,a,a(wu (D)

el L Fons

J:‘U“J/b Q PRIy (A)

Ay, D J)/L'.fdcuﬂ' (C)

?‘L(j’;’ﬂfd/fd)iuﬁjd)ﬁyl

(B) 17 (A)

14 (D) 15 (Q)

Q~/ e tTE S L fdrredsvfe Ut

. 5 (B i (A)

S D) & (©

tur YA s Py nn

S B < B

S syl () o (©

?‘L =) U"l/u:'/u: J“)'Zy/)

Yl 7w

S o A (©

o Tt L AL

) o (B] SO @
d‘u(n | vid

AN T [PT.0.



L-2

S A

t b
S Y

02/ 43

J)/

JK.L

Vi
Iz

2 blsrt Ll
Uy bl L3

t by
S
¢

L1
-1/

Vol A 1%
Pl o §JF

26
Pl
®) | 4 @
D) 3 (O
e Lo s LS
®) L@

(D) | 1% (C).
fc 3 Sses
(B) bl (A

(D) 3 MIA(©
-é—uﬂJ“b:'”w
e (A)

(D) Ui (C)
-
) Uhez sk (A)

) Wt s (C)
teJl QL sudUt AL

KJ)LQJ(U)//}?J:?U‘)/ Km)’;/f‘aﬂ.’/"uﬁ.ﬁ/;
®) S
D) g ©

L Wt

S /L,Jl.,,;fz; P ()
Sl b e Py (B
U ,_;@4 &Kz.,,bv’u (C)

ety D)

U Uy L«.-'/L TR

(B) B (A)
(D) & (©
S bl Aol ¥y

(B) P w
(D) vid 167 ()

.52

.53

.54

.55

.56

.57

.58

.59

.60




31.

32.

33.

34.

35.

36.

27
@ue - I
uTeT - I
feit
f& 30 T W enfeEA |
A W@ o] A e e |
@ ¥ a9y B
(© = <fa (D) |
'€ 3 et e’ Tt o
@A) % T@m e
© fawa T (D) fawa 5= )
fawa = fee anfefa 6@
A 6 B) 5
© 4 % D) 7
‘e’ @ 5= %:n '
A ‘ ®  femfast
(C) (D) & |
‘ S A TR
(@& = B) o9
© wf (D) <Y |
‘AT’ faEg o
@A) o e (B) fTrFHTﬂT\q‘
©) fo= am (D) fo=a9m |

0@

L-2

[ PT.O.



L-2 28
37. 31gg S yon feey afefH 2

@ 4 (B)

© s | (D)
38. ‘fafsq’ svar Wt oreg =nfeg e

W &g (B)

© (D)
39. ‘wfEw’ s fag o

@ @l B) ‘32& .
C wfiE (D) @
40. ‘=1’ W fog oM < C
@ @. '
© o= @ D) HEaHg |
41. faedt smon i A I MR 6
B =t
(0) fEERR
42,
(B) R
o &l
43.
B)
© f (D) 3RH |
44. Ftmd fafy & fad wifec s soe faeal o
@) FHSE WEd (B) o Hidtemel Sfaaoft
© R 3 (D) Tfo ISR et |



45.

46.

47.

48.

49.

50.

51.

52.

29
Td # 'R’ oTE #Y ] AR
@) U E aS R (B WSS ©E
(C) v G e« (D) S $9H g !
o FigHe T @ faae faeae e
@A) ot o S e B) fadu g < oat
) foft Tfow o (D) o4t Tt

“Sea " sl g fater ¥ =@ fa o

(a)  wE ¢ 5 al ae T (B)
(D)

C) E&Hd ° @I T

e wTer A & Siews § qwin % 3 o @t
(a) 15 3T, 1947 @. 23 faawr, 1947
(C) 10 3T, 1967 (D) 16 HE. 1950.

"9 R gE F A B hiegi ; Fee WA =T AR
@) IR AR % ®  TE ol
€ T EIR % _ (D) T4 S Faw= |
=2 T e

B) I EX
(D) e JHE=
' v TR
@ =W ® fawa s
) WA (D) RS |
Gt MRy ar UfES 1w Siel S8 IT wRAl e
(4) TR HasheH B TR T
(C) R g (D) =R IR |

N

O
e

H @9 @ |

L-2

[ P.T.O.



L-2
53.

54.

55.

56.

57.

58.

59.

60.

30
faft et @ faemy feg &t a TR @ w3 o

@ R XEd B R dgw
(C) <R T=we (D) R TR |
R T e e
@A = B) fawd
€ = (D) HR | @
Sife 9 Y HO SN FET T T @ a5 R | ()O
@ wE | ® w& .
) ¥WHHA (D) %
W o g @ 1 e e
C) wumE foram y ) IEASA S oarE |
Slo AR Jaeht Hfes foraa sh
()  TeThg S % (B) TR S
©€) Todt qeEw Q () ot werE € HEET W )
' 3
(B) I S g

(D) 3T&aE € g s foharg |

A) i@'ﬁﬁgﬁ%m (B) iarﬁﬁaﬁ@fm

(C) e ¥ "R foay (D) =<t 3" S fore |

R} e O | IS THIH forar @ TR i I e

@ T g e e ® fh e @

©€) qfagaf wi (D) A &% q9sT |i d9 faelt Jean |

LT



31.

32.

33.

34.

35.

36.

31 L-2

fen ¥ <9 4% 30 yAs 51

A YAS Agdl I6 |
35 fafmit &9 fagar Aae »EisT ®ar & &dt afonr 37 ®
(A)  winda B)  wifmmmum 0
(C) morew (D) wmfAg ()
fan mae &% fuesy adt Sfamr Sfenr? &
(A)  ¥eH (
(C) fremw
35 fafumit {39 faoz ‘@33’ Fae &
(A) Bun

(C) et , D) 3

B) €39

‘yaA fiw 2 w9 &t T3 973 yeE 3 ug B 3 fes st efenr - v &9 fauzr Aaw una 7

(A) =I3 (B) yg

(C) €en (D) &at

LI [201 [PTO.




L-2
37.

38.

39.

40.

41].

42,

43.

AW IR EIR 201

| a2
8r 3 g arw €t 3 A 8 § dfemn - feo fawm fami & e 7

(A) FU9s T (B) fuRes T=
(C) Fgas T (D) YAsewd T
‘B f&m a3 fefenradt 57 feg fan fami e oa 37

@A) ferR-zma (B) YAS-TEA
(C) w7 TR (D) df v
‘wirar | it fegare T A fis o)’ fem e & “amar mmﬁ@ﬁwﬂ?
(a) st ' (B)

. L 2
(C) & (D) :

AT faR mav 2 »ug AYy 3 faa 7z i far 9 At 37

(a) =fdEt ) , ai (“”)

(C) M () 33t (1)

Agardl fist @ »ig feu I fefumi f& &df fea Afe?

(A) vy A e fereRusg (B) iy 7t e fummar

(C) (D) nry T e fag

(A) B) e g

(C) (D) faw faR g & Adfus IR

? frug €3 uJ9 w3y & Jait walesT Hae-grs 7 ddl 31 ferm = 35 T9s
AAfgSt fevare &3 Taer fewr uer & fager vmd Aowfeel gar fE9 Hay &t dat e
famr 31 vy Tites it fiieat 3° dat gz Bar funr 31 HHts H3Y & T get A
ug gT feo WAy & Weaes vT ot 31 fEF 3x fa ey ye Hils © faefie aw-yow T & fg
famm 31

Budas 1Y © Jo el f&F° faoa fredy daet 37

(A) w3y IT (B) wAunfeedt

(C)  wfgwsT (D)  HHSt gar




44.

45.

46.

47.

48.

49.

- 50.

51.

33 L-2
‘Aot TITRE” YU € ol Ty TS?

() iRt fagga ; B) fited 3 Ime

(C) fHR=t mysE (D) fiie<t o3 dAer

‘Hde- gA3’ AEE ¢ &l »9g 67

(A) Tt feT fufonr B) T FEw @
(C) Tt I mEwe | (D) gyt 3 gt

et 3 T A, o, @, H,ag?ﬁ»ﬁhn'w%m»m%wa%ﬁ?()

(A) Hrfgs ® fd .
(© wwrt , (D) @
Urmelt g @t fdt faaat 37 @
A) TeewEt oyt
© s @ D) Rt
uwﬁﬁ%myﬁmﬁﬁmﬁﬁh‘%&)
) fds % B) w9
(© Q~ D) 2
'Um’
B uUv"F
D) uv<HT
* foraar fersat far wendt At e adt 37
(&) B) 3
(C) wwt | | (D) Wit

fan Bua <& wruSt wiest fadt aet 9= € yAsa ¢ &t fagr A 37
(A) sl (B) FAHTE
(C) HEIH (D) wAAleat

AR 201] [P.T.O.




L-2
52.

53.

54.

55.

56.

57.

58. .

59.

60.

LI

34

Ha®s &8 ug foor 31 =1 &9 Hos &® faoar s 37
(A) B (B) wR&W
(C) feds Tva &'w (D) 9= TV &<

‘a3 fHoss a9e I €0 AEw d¢ U ferm o &9 Jo fefunt 3T Adu Twa uzste fags 37

A) fros (B) F=S
© a2 D) @ @

‘A9 3% Ued’ yAsd 951’ fen v &9 faos ferms & a3 a5t

(A)  FE=HI (B)

(C) ufeH=zswa (D)
frrmae s fafowr @ Jeemous8a @A g

(A) FAEBTER

(C) TBTIX IS
wyE Aty Ha&" HEE &8 YT' &13" 7" Aae’ 97
(a) g 6 B W
(C) o= D) He
feedaR g ........: - yeTT, 35 fefimt &9 faod mae &% yor a5 7 Aaer 37
(a) fee B) V=
L 2
D) #
"y FH 9 & AR UT 9A faR d9 § ¥, mifAd fenmst wet faos nue da=t &7
digg UB St B) G st Ud wid U=

Gomm e my e yodfenri@ (D) €w2 gn W3
frog fen@st sugedt &% fiwdt a2, nfAd forast ®et faogr nuE ga=t 37
(A) &€ v3 I AR FEIT uH usSH Uk (B) ¥eW T ITT IF

(C) Eudtesazgur (D) 3t duF 3T IF JuS! Y adl el
(A)  Hhe At/ HWst A (B) HI fumme
(C) wfsargwiar (D)  HwouEr

Ll 201




31.

32.

33.

34.

35.

36.

37.

35 ' L-2

vis : II
(CTL TR |

sperzidl

211 visHi §e 30 uedt 8.

- £2§ Ufaloll vdIol Al SA%aud 8.

oflAeiiiefl sl 2108 dgoa 2A0E & ? @
A) Aaa B) xS 0

(€ el | (D) mi& g)

oflAetniell s2Al 2108 “‘nleie”’ ol uaial oell.

. (D) M1dlal,

a) e (

(C) veula elll.
“ofl221” 210€qll (ARAEll e10e of eua ?

(A) A} | @ B) 24
(C). Ans 6 (D)  2AEIR.
“dG sd dej ala Mg @?Wﬁ adslat2 & ?

(A) A6 Q (B) ap

ol el o adl sla ddl 210 s & ?

(B) [ugat
D) =Abu.
iell uRBneratas ([@uer s2f & ?
(A) A (B) v
© g (D) [Geun.
ollActiniell 2Avitaias 2doun s & ?
VI B
(C) uuR (D) «-d.

AT 201 P10



L-2

38.

39.

40.

41.

42,

43.

44,

45.

36
“o diaal ge.” Hi G sAL 2el ude s2 B 72
(A) - ausuel (B)  [e1€euel
(C)  adauel (D)  2ieudotiel.
““o1es12l €22\v claqd AF”’ ui (Baufaelnercl usie s & ?

(A) anaias (B) AH2adIAS @
© Alaas D) ElRaaaes. 0
ollActitiell eG4 Rigot 52 & ? » ()
A . ® , & .
< (D) @
olldotiiiel S&ad ilnvil oicdial. %
(A)  well Gdirq ) o 2i5cq
(C)  asus mdl % 2iu i vy,

)

D

diiRl Biaisa dil cvicl wistt 2id Ael 3 ciutel ?

(A) weun (B e

€ e (D)  =2d€l.

and) eunpeii weflofl %ﬂﬂl dl 2SN Wi a@viel dd g) sdaia ?
A) 2wy . (B) wdad

(€) D)  [Asndlust.
‘A8 of o ana ?

( (B) itud

€ b (D) oue.

Riars dled epucl ywdl. Rias aBraaie, o\fpid sid gaEell clal AdA. Riarsel 3 (Auell
Bd Addq uq 8q NS, 2AcA 2 Aar det el B. Riaws firsiell oy sldl AgA. - Al
olis auul

A) BRias (B) Riasai cawed

(C) Bras ded acx (D)  rars-[Qenell.



46.

47.

48.

49.

50.

51.

52.

37 L-2

ofldotiiel dpvaidl eumioll mel2a sl & ?
A g (B)

< 3 (D) w.

$s2amiell 2uadl sdictl A5 asst 2418l ¥ alet GRRIA dd 2 s&a ?

A) e (B) ue @
© 2a2 D) i, ()0

2if&1 sl : 21 + Glad & *

A yfad (B
(C) 24Ma ’ Ad.
“Ata’ eloedl 2l g2l wisl. @

A A+ ta 6 (B) Rl + 8a
(C) el + a (D) A8 + &a.
azqgel el i eel L [f10ll Guadlol s2ami 2ud & ?

(A) ¢ B) >0k

() (D)  2wrusaAl&or.
uste ejcll o2’ e s ewoe uul.

(A) W spal2 (B)  §dést

(C) g (D)  §dst.
“SASIR” AVEql 211 veudl.

A & B) siaa

(C)  deypm D) oedR.

(LR [P.T.0.



L-2 38
53. olldciiell s2u 2A0eni Guridldl Guallol ddl 8§ ?
(A) adlai (B) alaea
(C) Ivaad (D)  eoig.
54. ofldeil SAL ACEHI UUA2A ALIA] & ?
(A) [asua (B) ueua

C) 2 (D) QAual. ()0
L 4

55. olldouniell 53 ue [asidl 2isu & ?
(A) sieqa (B) &
(C) well ( %
56. Rissi2 3 slg Fal eua etlaar s Ragotetl %?
&)  yelRem & u=otiel

(
(C) GeduR arus (D)  sadzel Ruget.

GeouRget

57. Sl9el Glsd 29 s2a1 s I%ma & ?
A)  sEllaem
(C) taazel Ruge Q

58. “‘gj ail Yyeds afP2id 53 RREiiga ysal ?

(B)
(D) v

(B) ?

D) ;.

59. auzidel ue ugl s [QRuiRiGetsll Gualal s2ell ?
(A)  ypelldem B) acauldm
(C) el (D) Ildwi.

60. ‘“slol unMAl’’ ol M2 ¢f ena ?
(A)  susl Hwal (B)  euouel 2nudl

(C) @awiii ot Aq (D)  staniell da sizal.

HUTHA 201




61.

62.

63.

64.

65.

66.

67.

NHWARII

39

@uE - Il

ey - I

fe=dt

T EUs § Fl 30THA T |
it we At €

‘yfeht! @1 Tsa w9
(&) it (B) Xl
€ ufta (D) |

3 s el ¥ A |/ 99 U FEA ©

é& '

(A ded
) focw=
HH U TEd ¥ ?

A w

€ I (D) @SR |
‘ga’ &1 TATEEl TR § %

@ 7 Q (B) ¥AR
) uHR . (D) @ |
‘e’

(A) B) A
(9] (D) TEHA |
. S Siell, H1 G o’ A | i W W e

(a) wR9 B) &R
€ e D) R |
o A veal o1 A Fwif g ®

(A) TEHA W B YW¥
© ®39 D) SEFRH |

G

¢

N

L-2

[ P.T.O.



L-2
68.

69.

70.

71.

72,

73.

74.

- 75.

40
IS 91
(A) e H 9T IER I w R B) o F T A suwfeal ¥
€ ' Ui s ? (D)  STYHT o |
Grorh-Tog ®
@ - (B) ’

c 19) B

e -farg 1 e e ¥ @
) S & fag (B) a%mw@;(@aﬁsm
€ FAfe gur & fag (D) i Ed

‘forgf & T Y oS ST W g A e §§ ¢

@A) T S i R ®) AR 3R
(C) HI9 TR TET 3R

Wﬁmmmﬁaﬁw
@) e @ ﬁﬁ'q'r

C) g

AT : YA §©&A (73 - 75) mm’rwﬁu@ﬁkfw@mwﬁ@ﬁwi:
qgfeRer &1 e ® T AEERY | YA # gt weia au e sege &

HEA-YSH & TH TEdt € fa@ sfia-wig qen 98 wgfea foem @ § | W)y

st off RrE Afg TS USHh A1 31999 HH A1 Ak g1 ¢ a1 H13 o 7 w51 4

a1 afye AT A Y, e Al wafeor SrEgfe A i €1 ST € | § TEio Fguer FET
?

ERRIDI

A) qguu . (B) STH-UH H1 ATERO
( forerre (D) weit-fAsite fe@a |
‘frefia’ w1 a1 &

A) R FTen S (B) it Ea

© e w1 sim (D) Sffaa

TgfeRul &% TRl ued & %0 1 Afuw TR A A ¥

@A) faAm B) T

(C) TFfeRu Jguu : (D) i =1 e |

NI



41 L2
76. W 99 i@ TR ?

@a 3 B 4
< = (D) 37 |

77. STEUII LATTE T THE A § ?

@ %9 B 999 @

< 9937 D) 3,3 I
78. YE UK R & Q‘
Aa) e Eary (B)

(€ smffar o |
79. WEl + ITF = Q
@ e | @m] —
€ wERF 6 D) g |
80. 'W'Wﬁfﬂﬁ@%
A) 9+ HE . B) |+ e
(D) 9+ HE&ET -
81, '#iw’
B) Y
€@ #& D) WHfea |
82. HH H YR T ¥
@ =AfeEE B) SfqaT=®
€ I¥EEE (D) e |

N | [ PT.O.



L-2
83. fwd wg ® Wt v yewarT € ?

@ =F, T, fEmE
© o, W, feem
84. 'Y’ 9 Hi fagwur s ?
(A) YEREE
€ T=E
85. o9 H YY®H WK & Hed T
@ fafa
C) W
86. ‘TS {3 IWIe' &I U™

(a) =Y gu FEA

87.

88.

89.

@) o fen g
© dien qg
90. R arA F fau famen sem
@) gt
© mEE T

42

(B)

(D)

B)

(D)

(B)

(D)

B)

(D)

S, Y, 9%
f§=i1, 39 W, 9= |

wHfoeaq ¥ IRRA HET
TR 91l S gEOT |

SR W W @
YR i eI GleT |

foeet =t smar feprer

W o ST

Wes1 9T fe@mn
T BT B g |

T 1



43 L2

SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

61. We must come back by six.

‘Must’ in the above sentence expresses

(A)  possibility (B) advice
{C) desire (D) necessity.
62. Complete the phrasal verb in the following sentence : ®
You may try hard to hide the truth, but one day th will come ............ .
(Aa) in (B
(C) out

63. Complete the phrasal verb in the follg

People have been complaining abgt gices going ...........o..uee. everyday.
(a) wup (B) through
(C) after (D) in.

64. Complete the phrasa

he railway station to see .................. their children.
A away (B) at
Q) off (D)  after.
65. Whic e following phrasal verbs means ‘to remove’ ?
(B) take off
ut up (D) get off.

66. The doctor said to me, “Do not swim in cold water.”
In Reported Speech the above sentence will be
The doctor advised me
A do not swim in cold water (B) that do not swifn in cold water

(C) not to swim in cold water (D) to not swim in cold water.

L | PT.O.
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67. Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village.
(D) My uncle is wiser than some people in my village.
68. Pick out the appropriate question tag for the following statement :
You didn’t see him.
a) didn’t you ? B) did you ? 0
(C) isntit? (D) aren’'t you ?()
69. The word ‘advocate’ is similar in meaning to TS
(A) adviser B)
D

(C) supporter

70. Which one of the following words is similar

(A) brief

(C) precious (D expensive.

Note : Read the following stanz swer Question Nos. 71 and 72 :
“Silence hath bound th: fatal chain ;
Neglected, mute art thou,
Like ruined e desert plain :

May be by anort akened once again,
*
Harp of untry, let me strike the strain !”

71. The line di ed monument on desert plain’ is an example of
(a) (B)  metaphor
(D)  hyperbole.
72. Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country (B) strike the strain
(C) with her fatal chain (D) desolate art thou.
73. A sonnet usually contains
(A) eight lines (B) six lines

(C) twelve lines (D) fourteen lines.
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Direction for Question Nos. 74-76 : Pick out the correct phonetic transcription of the
following words :

Like

A /lalk/ (B) /11k/
©  /laik/ (D) /lulk/
Tree

@ /tuy B)

c  /triz/ (D)

These

@A) /dls/ (B)

@ /eiz/ (D)

Which one of the following words is a noun ?

(A) interesting (B)

(C) teacher (

Fill in the appropriate determiner :

I have not got‘ ..................... money i ccount.
(A) any B) a

(C) afew (D) few.

Supply the correct form of rb Femember’ in the following sentence :

B) remember

(C}) was remembe (D) have remember.

ng the road when she ........................ him
(B) have met
(D) meet.
modal which expresses ability :
(511 1 S speak three languages. ’
@  may (B) will
() must (D) can.

We decided to put off our visit .to Kashmir till October.

‘Put off in the above sentence means

(A) arrange (B) plan

(C) reject (D)  postpone.

NIRRTC0 [ PT.O.
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83. There isn’'t enough money, so we must cut down expenses.
‘Cut down’ in the above sentence means
(A) reduce in size or amount (B) stop
(C) increase in size or amount (D) revise.
84. They are repairing the bridge.

The passive voice of the above sentence will be

(A) The bridge is repaired (B) The bridge are bei aired

(C) The bridge is being repaired (D) The bridge ha <@ s Yepaired.
85. Pick out the correct passive voice of the following sentence :

They carried the injured player off the field. P

{A)  Off the field was carried by the injured pla

(B) The injured player was carried off the fi€ld

(C) The injured player be carried off

(D) - The injured player has been carfied 6 field.
86. He said, “Kavita, when is the ne

The above sentence in Repo

(A) He asked Kavita th next train was
(B) He asked to Kavit as the next train
(C) He asked to th hen is the next train

(D} He asked Kavi hen the next train was.
word ‘familiar’ is
ily (B) personal
(D) unfriendly.
eative’ is opposite in meaning to
tructive (B) positive
© istic (D)  pessimistic.
89. Pick out the word which has been correctly spelt :

87. The opposite
@A)

88. The

{A) obidient (B) obediant
(C) obedient (D) obidiant.
90. Which one of the following words has been correctly spelt ?
(A) gramar (B) grammar
(C) grammer (D) gramer.
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(A) [CrRulddt2 iQ
(C) udaia Y.
o1l lsad Jueu 72 0l 75 sui oll Sralol ).

“oafl w2, sAaoll v Al wileswl,

€lsi &d 2ylius ot Gscu
stiE1st 2u [QuRl sa@

A)  2uAdHi (B)  videui
¢ (D) [ewi.
(Cu2l 2ud & ?
2i2zelsu (B) cildraddl scustisit

(D) Yoy qH2sll,

UlSaui ““Aogeidd’ ouoid W2 sAl 2ACE qureAl & ?

A)  sdlacll B) dsi

(C) 2lius (D) Gseci.
a5t saAi ARAlal LRuli v w2 8 ?

(A)  llesmi (B)  aou{lui
(C) vueamwi D)  Saswi.

HHmwnw
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77.

78.

79.

80.

81.

VdS silal adi 28 9,
ol UR 2lell 242512 ud B ? ‘
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ollAeil uRFBe didld 76 20l 80 usslleil valol UL,

HiLlRie] Yol Ads 2isilell erRdg cla 8. uuen cled uRiva BGaul 2w 8. dol Ruor Hisal
o0lA dl Jid o ud. 20 wHeEHi WL AldlA scusedl Gadl adA dl FedldA Aaidll e,
vig, Ulq, daq, Glad, g, s2al vq d Vil Guid d26 dGoll 2duweli 2AIUGY, Hisl2HUNIsL
UE, A (Balcll JAS usR Juveld Adl Honel. det U A el (Builon 2i2s12 usal 53 8.
Nefl adl ed g Adl S18 2Add 53, dl Yol Ned 2izsiAuA Ad] cuven § 53,

2SI 2AIR1-olR21l 6la 8. viddl HeRIsl Pdot U 12 Add]l Sla V. Bauald @hzer v 284

(A)  vua-aidl Bauei (B &
(C) suen gl adl seiva Bl oll 214all.
Yael Aed g ?

(A) d36 d36eli 2diwsl ) 2i2SR-AuUA

(€©) [(afaa Bl % (D)  lot-B1u3lel.

wél uze] cuuer efpil qlueg@ uailor eu W sAL B ?

(A) ocunuerd B 12 (B) ?;l,qwﬂcﬂ (Baual o) var w2
(C) i Q (D)  yel:vod 2.

(B) il Yool

(D) 212 “vo¥all.
dol U2 §8¢ oloidell 1212 A 8§ ?

(A)  uRl-ct21 22s12l6l (B)  ydereudl
(C) ANRAy adl Bauledl (D) 221 woudll,
olldotiniefl Houatls] 52 vs§ e ud 8 ?

(a) s (B) xo

(C) aau (D) MaAd.

QLT ~ [PTO.
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82,

83.

84.

85.

86.

87.

88.

89.

90.

66
of yd-efdier A uPay eua dl uPepi-Gaz 2 euet ?

A yd (B) el

(C) Guae _ (D)  ulam.

“nopral 1ol Ad oigict B [Qeustiiell ¢f didl esia ?

(A) o v yoprdl upultls & (B) 516 suopra upil®Ls otefl
(C)  3ecus uopdl Bupuldls 8 (D)  sld Ao Bupildls
€8 ial Avel g2 ¥ 2iciy & ddl 2ioig sldl a3l & ?

(A) a4 s (B)  alviL 4 oL O
(C)  &dl Hd wmis (D)  oeleyda ?l&.
oflelotiniell sl el0e 2oL ud & ? & ¢

A &

(C) susl
Lslet e ?

“Qwidsyot dl dd 2 s€lad % ls u21d md@
@A) ot ) i
(C) Eeasie (D)  of6 H&dl.
281 aldial nondl sadl sieat % ?
5™
(

(A) 2Alde B) oa»a

(C) orofl D) visslal.

“spR sHRl ag o WS’ o dui gf 20u3da 8 ?

(A) ' (B) ¢t

(©) (D)  wsae.
e gl 25l anatRloll Alss2t usiell sMlsaella of sélej ?

(A) i (B) ¢

(C) i (D) s,

“cafdd %l § oig [ Hetdl”’ o oigd ofudl [QaR veudl

(A)  udd 2qu d md aal (B) dl ad padl €l

(C) [rsod A 2us0disl adl 8 (D) 2ecA Ad “vad.
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SECTION - IV / ©@UE ~ IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

39 GUE T <) ITETE 31¥iq IV(a) U aer fagm w@ 1v(b) A steaas € ) <1 STaEvel ¥ Tl
T 60 Jgfomedg 791 € |
et i IV(a) U e faA 20eET [v(b) WrTister rsaaq, s 997 FemEs deq o3 | fhan
T ¥ 9 fFet uw STEvs &l g ¥ U 9 60 WAl T ST A T
SECTION - IV (a) / @US - IV (a) _
MATHEMATICS AND SCIENCE / 7ifora a9 faame,

There are 60 questions in all in this section. The candidates who
must answer all the questions.

T EUE H Fa 60T € | T o1l A @ fawa &1 ==m fFan ® 3% ot

91. IfE, be the peak e.m.f. of alternating current, ot mean square e.m.f. will be
@& +E, B) E2 ©) D) E,/N2.
Ife wearad] ¥R H1 e fao oo 50 E 7, o glo o B
@& +E, B) EN2 0 /2 (D) E, /N2.
92. Detergent is a complex salt of
(A)  Sodium (B) Calcium
(C) Carbon 6 (D)  Magnesium.
STUHTSI wfed Fav ]
() wfeanw B) Hfewraw =
(C) wEA (D) W @
93. Device used to send tg and pictures is
(A (B) telex
(@] (D) none of these.
CE i I & o fre SqeReor &1 3w ke s § 2
A : B) N
© (D) T A wE W |
94. Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane ' (D) Oxygen + Acetylene.
yigstl #1 Afeen & foae fr=1 & | 57 A9 & fago &1 s94m fFa s @ 2
@A) S + BTRGISH (B)  SIfAISH + oA SIZAHIES
(C) SifadrsH + fea (D)  StfedsH + ufafeeti= |

IR R ~ (rro.
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95. Symbol of Tungsten element is

@ w B T
(C) Te (D) Tm.
A T HT HHaTER ¥
@ w B T
C) Te (D) Tm.
96. Property of sublimation is found in
@A sodium chloride (B) calcium chloride
(C) ammonium chloride (D) magnesium c
IeefUTe T TOT 9T W ®
() wifean wiRwe ¥ B) HfcrEm

(© omifem FREs ¥ (D) H
97. Heat required to increase 1° Celsius temperature logram water is
(A) 1 calorie alorie

(@] 100 calorie calorie.
= frdm T w1 T felt Sfvwaw @ wen o B ®
@A 1FaEk

© 100 & 1000 Fedt |
98. Image formed by a convex sphe
(B) real and erect
(D) real and inverted.

(A) imaginary and erect
(C}) imaginary and inve

TF 399 Teld 94U |
(@A) e T (B) wrfasw o Hien
(C) vt T (D) arKifas T I |
99. For an incidentqyray oflight, if mirror is rotated by an angle 8, then reflected ray will
rotate by an

B 26
D) 0.
oo & ferg, af qdur 1 o o1 @ oA T se @ wwafda e w1 guE o

(B) 20
) 90° D) o0°.
100. A patient of hypermetropia is given spectacles of
(A) lens of zero capacity (B) compound lens
(C) convex lens (D) concave lens.
TEfe S % 70w i = fean s R
A) I & H A B) fufsa &= &
(C) 3ITA AW FI (D) &FFaA A A |

MW
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101. In a typical plant cell the position of nucleus is

(A) Central ‘ (B)  Peripheral
(C) Basal (D) anywhere.
Tk Jredt ured SifvrR # e ot feafa €t @
@) FEE B) R
C) smuRE D) = o
102. Which of the following cell organelles is known as powerhouse of the ce
(A)  Nucleus (B) Nucleolus
(C) Golgi body (D) Mitochondria.
Fro 3 4 for SR B R 1 WRETE FE W 2 O
(A F B  HiR ()
(C) TSt & (D) ql%i:ai:: I
103. The longest stage of mitosis is ¢
(A) Prophase (B) etapha;
(C) Anaphase (D oplfase.
A fawreH o ged ol g @
(A WS )
O THS AArhs |
104. Viral disease is %
A) Polio B) Pl ) Cholera (D) Typhoid.
IR S A § ag%
@ e B) wm
(O R (D) TEAFES |
105. Which of the follo encies in food causes night-blindness disease ?
(A) Protein ' (B) Fats

*

(C) Vitamin (D) Vitamin C.

W o = ) HI Y wWe MY ?
@A) B) FH
(©) (D) faerfm C.

106. e and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

(A) 12 cm (B) 16 cm (@] 14 cm (D) 6 cm.

T e iR AR S 1 oNuR e du%et §HE ¥ | afE e & el e 26 |,
28 A qen 30 ¥t ¥ iR WHR wge w1 SR 28 AT Aelt o ¥, A FHRR wqyw i S
KLl

@A 129 B) 163

(© 1494 (D) 69 I

LT ~ (rro.
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107.

108.

109.

110.

111.

70

In general a book is a solid figure, known as

(A) parallelogram (B) cube
(C) rectangle ' (D) cuboid.
HERUA T e U 39 3mepfa & formem om0 &

(&) =R =g B

€ A= (D) =79 |

Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side

5 cm will be required for it ?

@ 9 B) 18 © 27
mwaﬁﬂmmm%mﬁwlswalmms IELERCEICaN
THE FI AIIRA B ?

@ 9 (B)
< 27 (D) 30.
The volume and curved surface area of a right cir ndgr are
(A 2nrh, nr2h (B) nrh
(®) %nrzh, 2nrh nrh.
Toh GHHIUNG FRAd A 1 3T T 9%
(A) 2rrh, rr2h B)N nr2h, 2nrh
(C) %nrzh, 2nrh ( nr?h, nrh.
The value of 7 is given as follo
3-1415926535897932884 7
The most and the leastgfrequently occurring digits after the decimal point are
respectively
@a 37 (B) 7, 3
© 3,0 D) 4,1
n s 7H = fea g
3-14159285358979323846264307
TIEE & A 3R TEQ FW IR W AN 3iF FA: T
A) (B) 7,3
© (D) 4, 1.

and Y are moving from a point A to the point B which are 50 metres apart.
eed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
ch to the point B are respectively

(A) 2 sec, 5 sec (B) 500 sec, 750 sec

(C) b5 sec, 2 sec (D) % sec, % sec.

q fagell Aqur Bfoas o9 1 g 50X 2, @ R Xau yoo! § 1 3fg Xt afa 10 H/A
AU YR G 25 H/@ }, @ 39S % g AR o) B 0% U W A Il 9HY FHHW: TN

A 293 59 (B 5008, 750% ~
© 59 29 (D) ga, % J

LT



71 L-2
112. Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively
(&) Rs. 7,650, Rs. 5,610 | B Rs. 5610, Rs. 7,650
() Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13,260 %o i TH X T A 39 YK faufaag s fF afe & 11 %o i @ WW &1 15 %0 |
9 YR & favyom ¥ W o wwm =) wawn: faeh

(A) 7,650%0, 5,610%0 (B) 5,610 %o, 7,650 %o
(C) 5,100%0, 8,160%0 (D) 8,160%0, 5,100%0 |
113. Which of the following is incorrect ?
(A) The point of intersection of medians of a triangle is called
(B) The point of intersection of perpendiculars drawn fro ices of a triangle
on the opposite sides is called orthocentre
(C) Al the three bisectors of angles of a triangle '\l& atone point
(D) Median of a side of a triangle is perpendiculat biseetor of that side.
e d @ - FuT W ® ?
@) e B w5 mitamst = ik fag
@) foet e & ol @ 5 el s w
© foet fo & 4 N & wafg
(D) Toreh s & e =Y wnfeaan,
114. Which of the following is not th tion"of congruency of two triangles ?
(A) The three sides of a equal to the three sides of the other triangle

respectively.

(B). Two sides and @ : uded between those sides of one triangle are equal
to two sides angstl @ e included between them of the other triangle.

(C) Two angles he Side between them of one triangle are equal to two angles
and the side een them of the other triangle correspondingly.

(D) All the thrée angles of one triangle are equal to the three angles of other triangle.
A el = et ¥ forw T TG £ 2
A oed huer: T AT F A el F TR 8

1 Q) YSTE To 39 = 1 B0, O S 1 D [onsi T I " F B0 H

B & Q = R TF W9 F O, TR S F D F0 R ITH o9 H S H
3 _

(D) T& Ay & A= A1, T S & A ol & s & |
115. If each angle of a quadrilateral is less than 180°, then it is called

(A) concave (B) convex

(C) parallelogram (D) trapezium.
el =g &1 9% Ho Al 180° @ wH T, ot 3T TGS I Feq &

(A) A B 3SUA .
€ TR (D) wEgY |

IR o
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: 2
116. The simplified forms of 22° ,[22)22and(222)2are

(A) 216 44 162 B 44 28 82
(C) 216,28 g2 D) 162 44, 216
2
aat 222, (22)2%qm (222 )  w o ww @
A) 216 44 162 (B) 44 28 82
Q) 216 98 g2 (D) 162, 44, 216,
117. The factors of expression (x2—2xy+y2)—22are ‘
(A) (x+y-z)(x+y+2z) (B) (x-y-z)(x-¢+
G (x-y-z)(x+y+z) D) (x-y-z)(
W(xz—ny+y2)—22'37‘{[WU€%
A (x+y-z)(x+y+2z) B (x- —2@y+z)
O (x-y-z)(x+y+z) D) (x y—z)‘ -y-2z).
118. If ax? + bx + ¢ = 0 is an identity in x, then
— 2 _ -
@ x = b:r\lzb 4ac B 2o x=O,x=—b
a a
(©) —0, x==> _b 0,b=0,¢c=0
c=0,x=—", x=, =0, b=0,¢c=0.
e ax2+ bx+c=0, xH @&
— \’ 2 _ : -
@ x=_P% 2b dac B c¢=0 x=0 x= -2
a a
© c=0x==2, x=2 D) a=0,b=0,c=0.
119. The numerator of a fractign is lesg by 2 than its denominator. If we subtract 2 from
the numerator and ad e denominator, then the new fraction obtained is % .
What is the orig ’
7 5 1
A 9 = Q) > (D) 3 -

5 7
W, A 2FW ¥ 1 3k 30w S H § 2 we oo 9 s H 2 Wi fewn s

39 TR %% a yrftye fis §
3 5 1
@ ® : © 3 O 3.

120. e x*-y*4 by x-y, then the quotient and remainder are respectively

S+x2y+xy2+y3, 0 B) x3-x2y+xy?2+y3,0

) x3+y3 x2y+xy? D x3%-y3, x2y-xy2

IR x2-y? & x- yd 9 < @ ITEA R ATFA FE: €

A x3+x2y+xy?2+y3, 0 B x3-x2y+xy?+y3, 0

© x3+y3 xZ2y+xy? D x3%-y3 x2y-xy2
121. The gas responsible for global warming is

@ H, ® co, @ NO, D) SO,

fova swm & fau famer g # '

@& H, ® CO, © NO, (D) SO,.

NRERERILT
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122. The atomic number of a nucleus is equal to
(A) number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons
(D} number of neutrons.
e T GRATY] HHTH SeR gram &
(A) TR H e « g gen
(B) =i &t @& + WA H &
€) WA e

D) =gl A wem | C?

123. If acid burn occurs in the laboratory then wash with plen f water and before
putting vaseline which of the following first-aids sho& performed ?
(A) Wash with sodium bicarbonate solution andfagain wi
(B) Wash with 1% acetic acid or lemon juic
(C) Clean with silver nitrate
(D)  Put simple salt.

water

AT H 37 9§ Sie W e e g dFelH T | gd efafad ¥ €S-
TgfaE ITER T =AMEy 2
(a) difegw aEwEHe O | CIEl|
(B) 1% THifew 3t a1 i
) oo Eee |/
(D) HIYRY 99
124. A place where s als like termites, fly, earthworm etc. are cultured according
to their habits e
A (B) Museum
€ (D)  Forest.
T© T W — ek, TG, FEU oNfE IR WYE ¥ SAIER Ul 9 ¥, 3§ #Ed €
@ -t B) WmERE
€ Em (D) =9 |

125. Which of the following statements is not correct ?
(A)  Aims are directives in the educational programmes
(B) Aims could not be achieved only by school programmes
(C) Objectives can achieve by school programmes

(D) Aims and objectives are same.

MR | [ PT.O.
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e 4 F-m s w2
(@) e weiwn § Siwa e frde @ wE F@ ¥
B) o faenerdt FrEET g ST W T A W
) Y Sy oo wrdswa g/ ow RS W " §
(D) X9 TE W9 SeXF WAE € |

126. Frequency of ultrasound is

A < 20 Hz B) > 20 Hz and < 20,0

(C) <20 Hzand > 20,000 Hz (D) > 20,000 Hz.

ITTARTE & A Bl &

(&) <20 Hz B) > 20 Hz a9f < 20"000 Hz

(C) <20 Hzd4 > 20,000 Hz (D) > 20000 Hz.
127. Pitch of sound depends on &l ¢

(d) frequency (B) %@

(C) velocity { i ty.

waf &1 ae R e € %

@) g W™ ’ ™

) dTW D) AW |
128. The number of magnetic lines passing through a given area is known as
(A) Magnetic induction % B) Magnetic intensity

(
(C) Magnetic flux (D) Magnetic moment.

fe T 8 A o el F GE wee &
A) FEHF WO (B) gwehig dier
© == (D) grrchia o |
129. A bulb ( 100 \ ) is connected to a voltage of 160 V. The power dissipation is
- @A) (B) 100 W
© (D) 160 W,
e W, 200 V )&l TF 160 Vdieeal & @y Sie 7 € | i g™ g
w (B) 100 W
) 32w (D) 160 W.
130. One kilowatt-hour is unit of
(A) energy B) power
(C) electric charge (D) electric current.
T foheiiare-ser foras ames & 2
a). S @ B) wfEw =
(C) dTgA @ (D) A U H |
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131. The system affected by AIDS disease is

(A) Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
TEH SR ¥ wifad € aren 9

A) 9EA THA (B) A d4

) F=g af=w a4 (D) wforen o |

132. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton’s first law (B) Newton's second
(C) Newton’s third law (D}  none of these.
"y foha & W faadia wd we wHE ik et € 1" 39 R
@A) =g = yuH fam B) A
(€)1 r Frm (D) ‘@;ﬁﬂ
133. The rate of doing work is known as
(A) Force (B) Motion (&)} Energy.
Fd FH B I Wl?ﬁ %
@A) =« (D) S |
134. Which method of heat transmission uire any medium ?
(A) Radiation Convection
(C) Conduction [D) Diffusion.
S RO FY wE-4 fafy & H%”f Eﬁ?ﬁ ®2?
@) fafwo
) =A [D) fémm |
135. With the increase o , the boiling point of water
A) increases B) decreases
(@] ﬁed (D) none of these.
T gfg & EEREIE
1\ B) weW R
(&) (D) T8 | HE & |
136. The ical representation of data in which data is shown by rectangles drawn on
X- as base, which are of equal width and the space left between any two
rectangles is same, is called
(A) Histogram B) Frequency polygon
(C) Bar graph (D)  Nonmne of these.

siwgl = aEfad g TRikid F & 9z fafy food svee o9 smadl g1 wefdfa fhd o &
TomaT oMuR x-2787 €1, fooh STYR SR SigE & & 991 & ogal & g B SIS T WM SR

g, HE §
@) emated ( fe=mm ) (B) WNeRal SgHW -
(C wWYTw (D) 3TA® | HE 7T |

NIRRT (P10
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137. The values of marks H\H and W are

A) 5,5 B) 5, not defined
(C) not defined, 5 (D) 3, 3.

fagt H\u as u/ﬂ & WE ?

@A 5,5 (B) 5, gfenfed &1 &
(C) 3uftvifya, 5 (D) 3, 3.

138. If the data to be represented graphically on Y-axis are in lacs as 1-5, 2.7 and 3-3

then which of the following is a suitable scale of choice for one unit ?

(A)  Rs. 50 thousands (B) Rs. 30 thousands

(C) Rs. 40 thousands (D) Rs. 60 thous

e Y-8 W IR §9 ¥ i fFY oM 9 eiwe o | 1.5, qo1 3.3%, @ T

TS ol TR & & fag Sugw 719 (@R ) HIF FERT ?

(A) BHOTIR %o (B) 30 TSR %o (C) 40 TS go (D) 60 TSR %o |
139. In the given circular graph, the decreasing orde the expenditure incurred on

various heads is
Food

Clothes

Savings

renty Education, Clothes, Savings
o8d. Education, Clothes, Savings.

Fort et T A JAOMNE] W fohe ST aTen o9, SeE he A %

T TRt
(A) e, 9=, ®Ig, "M ], T (B) @I, Feh TR, wug, o=@, fen
(© @, "o e, foen, wue, S=[ (D) H&[A fwu, @, e, w98, 99d |
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The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :
Length (in mm ) Number of leaves
127 - 135 5
136 - 144 9
145 - 153 12
154 - 162 : 5
163 - 171 4
Is it correct to conclude that maximum number of leaves are
A 153 mm long B) 145 mm long O
() 149 mm long (D) none of theg€.
foret 19 &1 35 wfvEl =1 o & Sihs Tw A a9 w9 P = qE:
s (Pt | ) afea &t 9@ .
127 - 135 5
136 - 144
145 - 153 1
154 - 162
‘ 163 - 171
T 9% Hel T § R srfteiem: afagh
() 153 fut T (B) 145 Tt il
(C) 149 fisdt wrsit D) T ARE T |
Alternate angles in the g igur€, where two parallel lines are cut by a transversal,

are

e

3/ 4

7/8
A d(2,7) (B) (1,2)and (7, 8)
(@) Jand (1, 5) (D) (1,5)and (7, 3).

# 2 iR @il @ Fed T e Yar % Wy 9 gu TR S
1/2
3[4
5/ 6
7/8
A (1,8) (2, 7) B  (1,2) 39 (7, 8)
© (2,6) 7 (1,5) (D) (1,5)d: (7, 3).

NI [ PT.O.
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142. In the following figure, the value of angle a is ( here O is the centre of the circle )
D

/3
A\/B

A)  60° (B) 20° 0
@ 30° (D) . 40°. O

fRAgufadamomam e (9 OTMH F= T ) &
.

(A) 60°
(C) 30°
143. Which of the following

fa 5 @ F-w e s € ?

(A) T g9 ¥ & e g R W TR T R0 IE Ssiar g ufify F fedt oy fag W
T T R F e gl @

B) et g9 d = ¥ IR g0 R feo SHansii Y ovang swer gt &
C) foet g9 & uw e gR1 9Rfy & SrerT-oren fagsil W s T I ST B €
(D) fd g d &% | TF Sia1 R S T T Sa1 61 GHIGHTTT & € |

AU RN AR | |
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144. Given UZ =5 cm, XU = 4 cm, are sides of the rectangle XYZU.

The area of parallelogram KLZU is
X K Y

U z
A) 20 cm (B) 10 sq.cm
(C) 20V2cm (D) 20 sq.cm. ()0

AEE XYZUH o UZ = 53 a1 XU = 43 &,
@ TR TS KLZUHT 8% § & S

X K

U
@a 2094 B 109t |ut
Q) 20vV29H (D) 209t |9t |
145. Hero's formula for the 2 tria;ngle with sides of lengths a, b, cand s =%b+c
is
@A) B Vs(s-a)ls-b)(s-c)
€ (D) % x Base x Height.
forelt i ¥ fore Rt 4T @, b, ¢ B, T WA E (R 5= LE2EC )
@A) B Vs(s-a)(s-b)(s-c)

s-a)(s-b)(s-c) (D) %xwmxﬁﬁﬁh

146. If the arithmetic mean and geometric mean of two numbers a and b are equal then

A) a+b=ab (B) a+b=+ab
© +Ya+b = ab (D) a=h.
afs frel Q TEmel aqu b THRR WEA FU UG W SR €, @
(A) a+b=ab (B) a+b=+ab
(© Ya+b = ab (D) a=h.

N [ PT.O.
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147. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 %years, if the rate of interest is calculated on the basis of six months ?

(A)  Rs. 6,566 B) Rs. 7,566

(©) Rs. 8,566 (D) Rs. 7.577.

48,000 To F 10% 1 L F, 12198 F =ehafs S 71 €, IR =< & R 9: W & fewm
QT S 2 |

(A) 6,566 %o B) 7,566 %o

(C) 8566 %0 D) 7,577 % |

148. A shopkeeper marks the price of an article of original cost Rs. er increasing it
by 10%. He then sells it by giving a discount of 10% to mer. The price at
which he sold the article is

(A) Rs. 100 (B) 1 o

{C) Rs.99 (D) one ofythese.

T THMSR fhelt o%g &1 o, e arsafas TR, 10% gL ifha T T | T®
I T W 10% FHA H WS H 9941 ¥, foh To = ?

(A) 100%o @0130

(© 99%o T | FE T
149. Which of the following stateme

(A) If the four quantities af b,

(B) Ifa b,c, dare pr i en ac = bd

(C) The inverse pr %f proportion a: bisb: a

(D) If three qu a, W, c are in geometric progression, then b? = ac.
= & @ s-w ?7?

(a) 3fg [ ) b, dGIFURT €, @ axd=bxc

| 3R g, @ ac = bd

(®) a : bR HohATgurd Th:a

T a b, c TR IANEL, @ b2 = ac

mber of members of an institution is 2500. If the number of members in first
increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

150.

(A) Neither decrease nor increase B) Increase of 25 members

(C) Decrease of 25 members (D) None of these.

et den ¥ el &t ¥ 25008 | AfE 9% Wen A a9 H 10% S R aMmgm a6 ¥ 10%
o2 It §, @ S anl & o uee & wem ¥ et gfs o it gen ?

@A) A gfg T H (B) 254zl ®i gfg

() 25Tl Y FHH (D) T | HE & |

NRRARIIY
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SECTION - IV (b) / @&US - IV (b)

SOCIAL STUDIES / QMHIfSh THaT

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

TG H FA 60T § | S erafeldl A 5 faww 1 99w fohan € 3% 9t v w0 ? I

91. Which Harappan building was considered unique in its built rld by Sir John

Marshall ?
(A) The Great Bath (B) &
(C) Assembly Hall (D) rt P .
e TSHHET TARG &1 W A1 7N A fava &1 8T ?
(a) JEq EHETR
(C) 99 o9& ) HE |
92. “In India there is unity in diversity @hd rsity in unity.” Whose statement is this ?
(A) A. L. Basham (B) V.A Smith
(C) Max Muiller ‘ (D)  Jawaharlal Nehru.
‘WA A T ¥ S TV 9% wue fewa € ?
A)  To TTo IRM (B) o o fmu @
(C) HIW e H (D) TEREE AEE & |

93. From which Indus sitg the evidence of ‘Fire pit’ is found ?

(B) Mohenjodaro
(D)  Kalibanga.
e o g wa | o1fa e’ & @ i € 2

. (B) AT
(C) (D)  SIeftem |
94. What is the main source of information about Indo-Greek rulers ?
(A) Travellers’ account B) Coins
(C) Buddhist literature (D) Jain literature.
fe=-gAF e % R H TR o JeI wWia | 7
@) =R ® fa
© st e D) ¥ wifew |

NHHVAREL Y | P.T.O.
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95.

96.

97.

98.

99.

82
Geeta is
(A) Veda (B) Independent Epic
(C) a part of Ramayana (D) a part of Mahabharata.
T ®
@ 9 (B) I WETHA
(C) T hT Tk {1 (D) HEYRA 1 Tk I |
The tomb of Sheikh Salim Chisti is located at

(A) Agra (B) Delhi 0

(C) Fatehpur Sikri (D)  Ajmer.
I weliw fawedt &1 weher el feem & 2 .
@) e H (B) H
(C) W Wl §

(D,

The author of ‘Nuh-i-Sipihar’ is

(A) - Amir Khusrau % Malik Mohd. Jaisee

(C) Dara Shikoh @ )  Sheikh Nizamuddin Auliya.
‘¢ fafee’ & AR ¥ 6

@ R gE B) wfe Hiewe wEE!

© =r e (D) ¥rg femER sitferan |
The chief centre of ool in South India was

(A) Gulbarga (B) Golkonda

L 2
(9] ij (D) Bidar.
gfarof ' ToafeRt =1 yq@ &= o
A B) TS
( D) T 1
The place where Saint Dadu died is
(A) Sambhar (B) Amber
(C) Narayana (D)  Pushkar.
T S ! 7oy ford v wgd ?
(@)  |HR B) =R
(C) -Een (D) =T |
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103.

104.

105.
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Where Saint Jambhoji was born ? '
(A) Pipasar (B) Gagron
(C) Jaitaran (D)  Nagaur.
W ST w1 S el g3 ?
(A) R (B) TR
©) SR D) R
Who was the leader of First War of Independence ( 1857 ) at Kanpur 2
(A) Tantya Tope (B) Laxmi Bai

(C) Nana Sahib o O) Kunwar Singh.O
TR ¥ WoH Tl §UH (1857 ) &1 HHY § g o faman an ()

(A) il B o

(C) A W& D) ¥ 1 *

Who is the author of ‘Majha Pravas’ written du 1857 ?

(A) Vishnubhatt Godse (B Pandey

(C) Narget Mangal Pandey.

1857 % <RF fafea T=is ‘wen ya’ & '

() fasprg Ml AR qrved

€ TR D) T WU |

Who has given the title of o au, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi 7
(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
Te™ A afgen fii Y forqa < ot 2

(a) sy TR (B)  weTe e

C) <EEEE (D) PN ITXEH |

In which lang a8 Mahatma Gandhi written his autobiography ?
(B)  Marathi
(D)  English.
HETH e e v # foaet 2
B) et
(D) S

In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

&) 1858 (B) 1859
© 1860 (D) 1861.
fofen dog A ffm ad FrF 99 = § fea et & wR Afuer 8 fad 2
(&) 1858 (B) 1859
(C) 1860 (D) 1861.

LT [ PT.O.
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106. The number of Lok Sabha members elected from Rajasthan is

@ 21 B) 26

© 30 (D) 25.
TR & wrwas % e fraifaa wewl #t v ¥

@a 21 B) 26

c 30 (D) 25.

107. The President of India is elected by
(A) the people of India
B) elected members of both the houses of Parliament an t Legislative
Assemblies
(C) the Prime Minister and Council of Ministers
(D) all the Chief Ministers.
WA o1 TEUfd g1 ST §
(A) ¥RA F AR gRT

(B) EEE & M WAl Wd T fauma & @
€ gy T HiAufeg & weel g}

(D) TWE G g1 |

108. Who is the Supreme Commander-i ia ?
(A) The Chief of Army Staff B) The Chief Justice
(C} The President (D) The Prime Minister.
9 1 Fale AUl B €
A) G 9y (B) H&A AT
) gl (D) WuEEH |

109. The Chief Justice € reme Court of India is appointed by
(A) the Vice- sidg (B) the President

ister (D) the President and Prime Minister.
* q&A = w1 g s ?
|) wgHfa
(D) gyl Td WuEHEET |
110. e Speaker of Rajya Sabha ?
(A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister
(D) The person elected by the members of Rajya Sabha.
TS| T AR HH g g 2
A) Su-IEdf B fwgwAa
© e A (D) T & weE g Feifad =afs |

NN
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111. Which region of India is associated with ancient Gondwana landmass ?
(A) Himalaya (B) Ganga Basin
(C) Thar Desert (D)  Deccan Plateau.
WRA 1 -1 Fa« G a1 -9r § geafvaa § 2
() feurem B W @ AH
(C) 9R TEea (D) <fagor =1 weR |
112. In which type of forest is Sundari tree found ?
(A) Tidal forest (B) Temperate forest
(C) Desert forest (D) Mediterrane )
< 39 fF9 YR &F o ¥ 91 W § 7 ()
A) v 9 (B) T,
© FEEyEt o (D) a9 |
113. The cause of winter rainfall in Northern Indiafis
(A) South Western Monsoon @estem Cyclonic disturbances
(C) - Cold wave @ all of these.
ot s 4 il o @
() <ol afted AEq @) O wshawE faa
(C) i e D) TEHIER
114.
(B) Cotton textile
(D) Cement.
B) T
(D) HAwE |
115. ich river is Bhakra-Nangal Project located ?
(A)  Satluj B) Ganga
(C) Ravi (D) Vyas.
HrEST-ATe i fof T W e § 2
@A) e (B) Tm
© e (D) =9 |
LT | PTO.
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116.

117.

118.

119.

120.
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Who was the ruler of Kota during 1857 mutiny ?

A) Maharao Ram Singh I B) Maharao Ram Singh II

(C) Maharao Madho Singh I (D) Maharao Ummed Singh I.
1857 it SHIf<1 & FHA HIT &1 W o1

() TERE 1M fEE 1 B) WEWE ™ fdg 11

() werE A o 1 (D) WeRE SHE e 1.

The famous Salim Singh Haveli is situated at

(A) Nawalgarh (B) Mukandgarh O

(C) Pilani (D)  Jaisalmer. ()
wfg Tfem e w3eh feera & o

@ e § B) :

© foeri A ( A

In which district is Gogamedi fair held ?

(A) - Bikaner @ Ganganagar

() Hanumangarh @ D) Churu.
forer Rt 2 Tkt B e & 6

() ST B) TMER

€ FIEIE D) ¥ |

The fort where Bri ral Lord Lake attacked five times, but failed, is
(A) Lohagarh, ha.;a ur (B) Bala Fort, Alwar

© andalgarh (D)  Achalgarh, Abu.

(B)
5, AISTTg (D)
The first President of Mewar Praja Mandal was

(A) Manikya Lal Verma (B)
(C) Bhurelal Baya (D)
TS Wil HUSH & YW A4 o

@A) Wi ae gt (B)

€ T =& (D)

NURTRERA 0 {z01]

TR A8 A A U G T W1, g Twe o, ®

qren forell, 3T’
3TEATG, AT |

Balwant Singh Mehta
Ramesh Chandra Vyas.

T 9% A9 |
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The main characteristic of the Indian society is
(A)  unity in diversity (B) illiteracy
(C)  self-sufficiency (D) regionalism.
IR T ) gqE fasiar €
(&) A H T B)  =fem
€ wEEH (D) Rf¥Ewd |

Urbanization is the result of

a) educational development

(B) rural development 0
(C) migration of population from villages to cities ()

(D) agricultural development. & 2
TR o ¥

@) Hferer fawma @
(C) UM ¥ TR it 3R TS YA fasrra =1 |

(
Regionalism is the main cause of
(A) poverty @ (B) social tensions

(C)  unemployment (D)  globalisation.

STTAE & FROT §
@A) TSt Fw (B) QIS aATEl #
(C) SO W (D) SvEIH FT )

Apart from subject tents, a social study teacher should have knowledge of
(A) objectives
(@ tec
BICIEED

A)

teaching (B) methods of teaching
teaching (D) all of these.

F TeATE h fIvg-a%g & WE-WA FH A A6

I H ®) Toeo fafeai =
LERICHC] (D) A

Which is not a cause of poverty in India ?

(A) Unemployment (B) Rapid grthh of population
(C) Education (D) Large size of family.

IRa H Tt % fow S e 9w R 2

@) e ® & sEen gis

(C) fuwan (D) gea @R |

N [ PT.O.
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126.

127.

128.

129.

130.

=

The famous trade centre of Far West during the Gupta period was

(A) Vidisa (B) Purushpur

(C) Ahichhatra (D)  Paithan.

W S § gL uiem # gfag e w5 o

(&) fafesm (B) IEUR

© sfewed o) T

The National emblem of India has been taken from

(A)  the pillar of Sanchi (B) the pillar of Sarn
(C) the pillar of Allahabad (D) the pillar of

IR & Ay fag fomn e

@A) T @™ (B) W‘H@ﬁ .

(OI-GIEIR S LR (D) Q|

‘People did not lock their houses.’

About which ruler has Fa-hien written thi %

(A) Ramgupta @ handragupta I
)

(GO Chandragupta Vikramaditya Samudragupta.
‘S u H e T @ 91

e A | e % SR ?

&) T B) == I

€ == (D) HESTH |

The famous temples ofdMahabalipuram were built during the reign of
(A) Pallavas 2 (B) Cholas

(@ Chal (D) Kakatiyas.

iR fore T & WA % ST S 2

B =

(D) AT |
first time, in which period of Indian History was the registration of birth and
death of people introduced ?

(A) The Age of Mahajanapadas (B) The Gupta period

(C) The Kushan period (D)  The Mauryan period.
I sfaere ¥ vgell aR Nl & 5 Ta Jeg 1 IS ol e § e @ 2
(A) TREHEIR FTA (B) TH &

©  Fu FEA (D) & |
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131. The meaning of the word ‘Dastak’ is

(A) Slavery (B) Factory
(C) Port (D) Duty-free trade.
‘T T R A ® 7
@ e B el
€ T=TmE (D) Y% g% SMNR |
132. Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of
(A) Maharana Pratap (B) Maharana Udai
(C) Jaimal (D) Maharana gh.
IFR & Fexiiee W AHAT ( 1567-68 ) % T0F F&1
@ e S ®) fare
€ “EHd (D) 3 fdg )
133. Which of the following Mughal emperor'@ known as the golden period of
Hindi literature ?

(A)  Aurangzeb Akbar

(C) Jahangir (D)  Shah Jahan.
e el S1RE % H T HT1 SO § ?

@) e B) FTFW

€ 'R 2@ (D) mEEl |

134. The French trave isited India for six times was

(A) Menucci B) Bernier

¢ (D) Tavernier.

q B8 SN YR 1 I &I ?

| af=m
D) <R |
135. many ranks of Mansabdars have been mentioned by Abul Fazl in his
Ain-e-Akbari ?
A 22 ® 33
) 44 (D) 66.
IMEA-T-THe H e Folel A FAGERR] &t a1 SToral =1 oo fean ® 2
@ 22 B) 33
C) 44 (D) 66.

LT [ PTO.
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136. The Constitution of India was adopted on

(A)  15th August, 1947 (B)  26th January, 1950
(C) 26th January, 1949 (D)  26th July, 1950.
R wfawms @ fear T

(A) 15 37T, 1947 Hi (B) 26 ¥Had, 1950 &1
(C) 26 SHad, 1949 &I (D) 26 @K, 1950 S |

137. How many fundamental duties have been mentioned in the Constifution of India
Part 4, Article 51-A ?

A 10 B 12
C 15 (D) 11. O
R |iaum 9rl- 4, ST 51—Qﬁwﬁﬁ%ﬁaﬁw?ﬁfwaﬁ@
A 10 (B) 12 & *
(© 15 _ (D) .

138. When was the first meeting of Constituent As
Al 15th August, 1947

() 9th December, 1946
wifgum fafst @ ) wwe 5% wd

November, 1949
th January, 1930.

) 26 =, 1949

(A) 15 37T&, 1947
© 9few=R, 1946 26 S, 1930.
139. In the Constitution of Indi umber of Fundamental rights after 44th Amendment
is
- Q7 ..
c 8 (D) 5.
TRea wigem ¥ 44 § ¥ I¥ET qW AfUFER FI e §
¢ | 7
(D) 5.
140. i characteristic of the Constitution of India ?

ndamental rights and duties
(&)
(D) Independent judiciary.

IR Hfaum 1 $E-4 fadvm i § 2
(&)  ISTarEE gsfa

(B) W fueR T8 w7

(C) TS ARGk i TSHIR it GL&T
(D) &A= AU |

Employment guarantee to every citizen
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141. The largest continent of the world is
(A)  Africa (B) North America
(C) Asia (D)  Antarctica.
9ol 1 o 91 WEEIT ¥
(&)  3ABIH B Sud i
€ (D) TUeThfEET |
142. ‘U’ shaped valley is formed by
A rivers (B) glaciers
(C) winds (D)  underground w;
‘U SRR Y uret fafda 2t @ 0
() At g - ® femE
(G £ IE0 - (D) STeT B, |
143. In which rocks are layers formed ?
(A) Igneous %rphic
(C) Sedimentary these.
L= %
(@) I % HIRA
(C) orEHr} T Q[
144. The lowest layer of atmosphe
(A)  Stratosphere % Troposphere
(C) Ozonosphere Ionosphere.
argmsa H wod
A gIvSH
© afﬁh‘—mm HAETHISA |
- 145. The sea havin 'n?um salinity in the world is
(B) Arabian Sea
(D) Baltic Sea.
RIS I
(B) Sd R
€) 7@ ER (D) wifees WP |
146. The main soyabean producing districts of Rajasthan are
(A) Ganganagar — Hanumangarh (B) Kota — Baran
(C) Bundi— Tonk (D) Jaipur — Dausa.
TS H HHEEH % Y@ SEH o €
(A) TR — SEFTE (B) ®Rr —erl
© Hq —3IF (D) AR —3 |
LT | PTO.
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147. In which district of Rajasthan is Tungsten produced ?
(A) Bhilwara B) Udaipur
(C) Nagaur (D)  Jaipur.
e F fore el | Sre &1 SaeA g € ?
@ et (B) ITAW
© AR (D) VAR |

148. Rainwater harvesting is beneficial for
(A) irrigation

(B) agrlculture ()O

(C)  production of hydroelectricity

(D) improvement of underground water level. & *
T ST HAC AT

W fEE % foe (

€ v faga ST & fau ol ®R GurRA & e |
149. In Rajasthan, cities located on Natio \"% o. 15 are

(A) Bikaner — Nagaur — Jodhpfir

(B) Ganganagar — Bikanerg~J r — Barmer
(C) Jaipur — Ajmer - Udai —/Dungarpur

(D) Jaipur — Tonk Kota.

150.
(B) Ser
(D)  Achalgarh.

B) ™
(D) STITTE |




& &Td & AT SWg / SPACE FOR ROUGH WO

006\

@é
E@
Q |

&

R TI

¢



% % & fAT W7g / SPACE FOR ROUGH WORK

,\&@
&

&

.

&

&

] |



LR




L-2 96

INSTRUCTIONS
( Read carefully and comply / !!Tﬁ(m'aﬁ?' qre ‘ET})

IMPORTANT /
1. In Sectlon 11 (Lan guage 1) a candidate has to attempt the questions of the language which the candldate has selected as
elin the nline Application Form.
mn I 1) S ST b G B g A A & T e o ot Y e 1% w9 siens ades-ut § fran ¥
2, In Section Il (Lan age 1) a candidate has to attempt the ?luestmns of the language whlch the candidate has selected as
Language II in the nhne Apphcatlon Form, The Language II will be different from Language
WIS (1| ¥ 36! AT & A B Gl HIAN AFA & R SO HT 99 AU A A 01 & € F aéz-—r-qaﬁ%m%mmwnﬁﬁnhﬁl
3. The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
Tt OMR ¥iie | W R W YR FHE et W
4. The candidate has to answer of that subject in Section (IVa) Mathernau(:s and Science or {IVb) Social Studies as selected by the
candidate in the Online Application Form,
If a candidate answers t e questions of the language or subject other than selected in the Online Application Form, the
candidate shall be personally responsxble for it and it would be treated as wron
e ﬁwm‘ﬁ%méwa) wd fawm @1 (Ivb) TR SerE | %w%wﬁﬁzﬁm BT TG et
31I=k7||§=| T ar o
AR anpel 3 SR A T ¥ wab i @ fawd & vt e T w0 o W ar o4 favg % o 77 st
F @ F RIER g e el 3 S
1 Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answ and Sl. No. 1 to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you onally responsible for the
consequences arising during scanning of your Answer Sheet.
Y T 3R FH% 1 ¥ 6 7F OMR ¥ UF FHiE 1§ 4 TH
faraor w1 TemR %ﬁounsﬁzﬁﬁ?ﬁn%m et afto &
2. OMR Sheet No. should be written in the space provided in the Question Bookl
OMR il I ¥ g o 3t it Freifier ®arry o) ot st e |
3. The Question Booklet comprises 96 pages having 150 questions. After bei
will open the Question Booklet seals. Check whether the Booklet contains ions starti rgT from Page No 3 to 92

T H 96 IS T 150 W €| W Few R} 9 % IW o we g &
150 99 & S 76 U0 TEAT 3 W YRS B 92 TF E)
4. All questions are of MCQ (Multiple Choice Questions) type. There i e correct answer to each question carrying one
mark. There will be no negative mt for wro anlwen )
i TR F I U ¥) e wa % R oo 3 A R
5. All questions othey than lunglnge ue;tlom of Sectio be bilingual.
WY U & WINT WO TV I U 1 % WA & A W Tomedia g

6. In any event of any mistake in any question/s, ¢ t be penalized. However no corrections will be made in
%SUOn/ s during the examination, . ,
ﬁ?ﬂ%aﬁe%%ﬁuﬁmﬁ TR wien Y erafy & weAl § Rl W o witeA T e SR
7. Rough work, if any, may be done in the Questi in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet, No additional pa ded )
el TR & TH T ¥ W R S o § 7o QR @ T8 B | et W arftfen e Iucred Wt e SR

8. Use of Log tables, Calculator, Slide rule M ) Pager, Digital diary or any other electronic item/instrument etc. is not
T A1 TRl g R T SelaRiies IYROT / g 1 WA s ¥ T

Question Booklet separately.
OMR YT, W F W

10. The Quesuon ooklet will ¥
Sheet, The Question Bookle

45 P. M and the candldate must fill all entries in Question Booklet and OMR Answer

all be opened at 2:00 P.M. After opening the Question Booklet, ensure that any dpage/
question is not missing / not pi ed / torn l/ repeated. In case, ou find any defect anywhere in the Quesuon Booklet, immediately
inform the lnwgllator and %\/lt it réplaced within 10 minutes by the Invigilator, Warning Bell will ring at 3:25 P.M. and the last

o e ring at 350 45Qamlamﬁwm#mgﬁawﬁnomnmﬁwmﬁﬁlm T sk

a @ & A wE % I = aﬁ'é zFe qm"r et & a'mas
qq W ™ g EH B:Card L:an) H‘ZlT
101 AT BT T¥ -viag?r e 3:25 T Fol 0o S~ ol 62 e 3:30 W
11. entre Code Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Slgnature in the
he Questlon Booklet as wel] as in the OMR Answer Sheet
~ giie TR fuika ®M W 9T 5 A IS, A TR, OMR mmmmm%@aaﬁwﬁl
12. question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
answer, according to ¥lou is correct. Indicate your answer by darkenmﬁ the appropriate circle completely in the OMR
; eet correspondmg to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
TS Mg & 9N F09F IW A, B, CT D A Y W ¥) v it Ew ¢ 9 WEl I H 94 F ITF _IW F OMR ¥ie H Ty
Wﬁgﬁ%maﬁmfﬁﬁﬁmwsﬁmaﬁlwﬁﬁwﬁ% it a1 et A 9 T ITENT B A 9 @ e e
afera i
Correct method : | CORRECT / i Wrong method : WRONG / TT& Y WRONG / 7159 WRONG / e WRONG / 7/e1d
: O OO @ ' e BOOO| |OQ00| |0000| |0Ce0 e
13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

shall gﬁzof the candidate only.
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14. N}? ce;g blgate %h?iuld leave ge Exatrlx]ur}atlon1 Hall befforel the final b%ll The Quest}_llot;1 Booklet as well as the OMR Answer Sheet
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